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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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14:35 53 30.0 = RRiB014:35 B (RFAEESE)
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23 477.0 (9%) 270.0 32 3KEC: 2337.0, PH: 6.5

EREBRIERLLFRAX (0.64 vs 0.58)), AIREE ZIRREIENREEIRK
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REXRGEBIPH (10.23) 5FIPH (6.5) REKK, BT

REREEBIEC (2174.0) 5FMEC (2692.0) REK K, HHE

EURGEBIPH (10.2) 58 FEE (6.5 REK K, BT,

EYRGERIPH (10.2) SiEBIE (6.5) RERK, BRE.
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11:00 88 30.0 | 1Rike11:00 B (REAERS)
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13:45 88 30.0 = RRiB013:45 B (RFAKESE)
=2it| 616.0 (7% 210.0 EGHKEC: 2395.0, PH: 6.5

FORGEBRRTHC R IR IR 1Y (80 vs 56.0))
EXIASEPRIERE43. 0 ml.

REXFEBPH (10.34) 5i&%EPH (6.5) RERK, FHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
ERGEBIPH (10.3) 5iREME (6.5 RERK, BHRE.

EORGEBPH (10.3) SRRAEWY (6.5) RERK, FRE.
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BYE) | GEBERTIC (B)) | EME (EAH/#K) | XS R

06:15 80 30.0 BH| 1{Ri%@06:15 Fzf (RAERHKE)
06:40 80 30.0 FH| 1BRi&@06:40 Fzh (RFAEREIZE)
07:05 80 30.0 FA| 1BRi&@07:05 F3) (KAFERSE)
07:55 80 30.0 FA| 1BRi&@07:55 F ) (KAFEREE)
09:10 80 30.0 |Z=| {RiB009:10 Fzh (KAERSE)
10:10 80 30.0 |Z=| {Ri%e10:10 Fz1 CGREZBE)
11:20 80 30.0 E| {Rige11:20 Fzh (GREERSE)
12:35 80 30.0 = BRiB@12:35 Fx (GREAERESE)
13:40 80 30.0 = RRiB013:40 Fz (RFAEEE)
15:00 80 30.0 E| {Rig@15:00 Fzh (GREERSE)
16:00 80 30.0 El BRi&e16:00 Fzh CGRAEREEE)
21+ 880.0 (11%) 330.0 3 IHKEC: 2850.0, PH: 6.5

FORGEBRRTHC R IRIEEL 1Y (80 vs 56.0))

ERIASEPRIERE43.0 ml.

REXFEBPH (10.34) 5i&%EPH (6.5) RERK, FHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
EREBIEC (2450.0) SiEEIEY (2850.0) RERK, FEE.
ERGEBIPH (10.4) 5i8EME (6.5 RERKA, BHRE.
ERGEBIPH (10.4) S5EREW (6.5 RERK, HRE.
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